



Generalized Hyers-Ulam Stability for Ladder Network and Fibonacci Sequence

R. Murali^{1,*}, D. I. Asuntha Rani¹ and A. Ponmana Selvan¹

¹ PG and Research Department of Mathematics, Sacred Heart College (Autonomous), Tirupattur, Vellore, Tamil Nadu, India.

Abstract: We enumerate the Hyers-Ulam-Rassias stability of the homogeneous linear difference equations of Ladder network and Fibonacci sequence with initial conditions by using Z -Transforms.

MSC: 26D10, 39B82, 44A10, 39A10

Keywords: Hyers-Ulam-Rassias stability, homogeneous, linear difference equation, Z -Transforms method.

© JS Publication.

Accepted on: 13th April 2018

1. Introduction

S.M. Ulam [17] posed a question about the stability of functional equations in 1940. In the following year the question was affirmatively answered by D.H. Hyers [7] for Cauchy additive functional equation in Banach spaces. Since then several mathematicians have been extensively examined the stability problems for other functional equations in various directions (see [4, 12, 16, 18]). A generalization of Ulam's problem was recently proposed by replacing functional equations with differential equations, integral equations and difference equations. Now a days some authors are very interested in proving the Hyers-Ulam stability of difference equations of linear and non-linear recurrences (see [3, 9, 10, 13, 14]).

In this paper, we prove the Hyers-Ulam-Rassias stability of linear difference equation of Ladder network and Fibonacci sequence of the form

$$i(l+2) - 3i(l+1) + i(l) = 0 \quad (1)$$

$$f(s+2) - f(s+1) - f(s) = 0 \quad (2)$$

with initial conditions

$$i(0) = 0 \text{ and } i(1) = 1 \quad (3)$$

$$f(0) = 0 \text{ and } f(1) = 1 \quad (4)$$

by using Z -Transforms method.

* E-mail: shcmmurali@yahoo.co.in

2. Preliminaries

Now, we will give the definition of Hyer-Ulam-Rassias stability of the homogeneous linear difference equations (1) and (2) with (3) and (4) respectively.

Definition 2.1. We say that the homogeneous linear difference equation (1) has the Hyers-Ulam-Rassias stability with (3), if for every $\epsilon > 0$ there exists a positive constant \mathbf{L} such that $i(l)$ be a function satisfies the inequality

$$|i(l+2) - 3i(l+1) + i(l)| \leq \epsilon \theta(l),$$

with (3) then there exists a function $j(l)$ satisfying (1) with $j(0) = 0$ and $j(1) = 1$ such that $|i(l) - j(l)| \leq \mathbf{L}(\epsilon) \theta(l)$.

Definition 2.2. Let the homogeneous linear difference equation (2) has the Hyers-Ulam-Rassias stability, if for every $\epsilon > 0$ there exists a positive constant \mathbf{L} such that $f(s)$ be a function satisfying

$$|f(s+2) - f(s+1) + f(s)| \leq \epsilon \theta(s),$$

with (4) then there exists a function $g(s)$ satisfying (2) with $g(0) = 0$ and $g(1) = 1$ such that $|f(s) - g(s)| \leq \mathbf{L}(\epsilon) \theta(s)$.

3. Hyers-Ulam-Rassias Stability of Ladder Network (1)

Theorem 3.1. For every $\epsilon > 0$ and $\theta : (0, \infty) \rightarrow (0, \infty)$ be a function, there exists a positive constant \mathbf{L} such that a function $i : (0, \infty) \rightarrow \mathbb{F}$ satisfies the inequality

$$|i(l+2) - 3i(l+1) + i(l)| \leq \epsilon \theta(l), \quad (5)$$

for each value of l with initial condition (3), then there exists a solution function $j : (0, \infty) \rightarrow \mathbb{F}$ of the difference equation (1) with $j(0) = 0$ and $j(1) = 1$ such that $|i(l) - j(l)| \leq \mathbf{L}(\epsilon) \theta(l)$, for all $l > 0$.

Proof. If we define a function $u : (0, \infty) \rightarrow \mathbb{F}$ such that $u(l) = i(l+2) - 3i(l+1) + i(l)$, for all $l > 0$. Also, in view of (5), we have $|u(l)| \leq \epsilon \theta(l)$. Now, taking Z -Transforms to $u(l)$, we get

$$Z[u(l)] = U(z) = (z^2 - 3z + 1)I(z) - z(z-3)i_0(0) - zi_0(1). \quad (6)$$

In view of (6), a function $i_0 : (0, \infty) \rightarrow \mathbb{F}$ is a solution of (1) if and only if

$$(z^2 - 3z + 1)I(z) - z(z-3)i_0(0) - zi_0(1) = 0. \quad (7)$$

Using the initial conditions (3) in (6), we have

$$U(z) = (z^2 - 3z + 1)I(z) - z. \quad (8)$$

Since $z^2 - 3z + 1 = (z-s)(z-t)$, where $s = \frac{3+\sqrt{5}}{2}$ and $t = \frac{3-\sqrt{5}}{2}$. Then (8) becomes,

$$I(z) = \frac{U(z)}{(z-s)(z-t)} + \frac{z}{(z-s)(z-t)}. \quad (9)$$

Now, we define a function $j(l) = \frac{s^l - t^l}{s - t} i(1)$, then applying Z -Transforms to $j(l)$, we get

$$Z [j(l)] = J(z) = \frac{z i(1)}{(z - s) (z - t)}.$$

Hence

$$(z - s) (z - t) J(z) - z(z - 3) i(0) - z i(1) = 0. \tag{10}$$

Since we have $j(0) = i(0) = 0$ and $j(1) = i(1) = 1$. Now,

$$\begin{aligned} Z [j(l + 2) - 3 j(l + 1) + j(l)] &= Z [j(l + 2)] - 3 Z [j(l + 1)] + Z [j(l)] \\ &= (z^2 - 3z + 1) J(z) - z(z - 3) j(0) - z j(1) \\ Z [j(l + 2) - 3 j(l + 1) + j(l)] &= 0. \quad [\text{from (10)}] \end{aligned}$$

Since Z is one-to-one operator, it holds that $j(l + 2) - 3 j(l + 1) + j(l) = 0$. Therefore, $j(l)$ is a solution of (1). Then we have

$$Z [i(l)] - Z [j(l)] = I(z) - J(z) = \frac{U(z)}{(z - s) (z - t)} = Z [r(l) * u(l)],$$

where $r(l) = \frac{1}{z} \left\{ \frac{s^l - t^l}{s - t} \right\}$. Since Z -Transforms is linear and one-to-one, we have $i(l) - j(l) = (r(l) * u(l))$. Now, taking modulus on both sides, we get

$$|i(l) - j(l)| = |r(l) * u(l)| = \left| \sum_{l=-\infty}^{\infty} r(l - k) u(k) \right| \leq \sum_{l=-\infty}^{\infty} |r(l - k)| |u(k)| \leq \mathbf{L}(\epsilon) \theta(l)$$

for every $l > 0$, where $\mathbf{L} = \sum_{l=-\infty}^{\infty} |r(l - k)| = \sum_{l=-\infty}^{\infty} \left| \frac{1}{z} \left\{ \frac{s^{l-k} - t^{l-k}}{s - t} \right\} \right|$ exists for each value of l . Then by the virtue of Definition 2.1, the linear difference equation (1) has the Hyers-Ulam-Rassias stability. \square

4. Hyers-Ulam-Rassias stability of Fibonacci sequence (2)

Theorem 4.1. For every $\epsilon > 0$ and $\theta : (0, \infty) \rightarrow (0, \infty)$ be a function, there exists a positive constant \mathbf{L} such that a function $f : (0, \infty) \rightarrow \mathbb{F}$ satisfies the inequality

$$|f(s + 2) - f(s + 1) + f(s)| \leq \epsilon \theta(s), \tag{11}$$

for each value of s with initial conditions (4), then there exists a solution function $g : (0, \infty) \rightarrow \mathbb{F}$ of the difference equation (2) with $g(0) = 0$ and $g(1) = 1$ such that $|f(s) - g(s)| \leq \mathbf{L}(\epsilon) \theta(s)$, for all $s > 0$.

Proof. If we define a function $u : (0, \infty) \rightarrow \mathbb{F}$ such that $u(s) = f(s + 2) - f(s + 1) + f(s)$, for all $s > 0$. Also, in view of (11), we have $|u(s)| \leq \epsilon \theta(s)$. Now, taking Z -Transforms to $u(s)$, we get

$$Z [u(s)] = U(z) = (z^2 - z + 1) F(z) - z(z - 1) f(0) - z f(1) \tag{12}$$

In view of (12), a function $f_0 : (0, \infty) \rightarrow \mathbb{F}$ is a solution of (2) if and only if

$$(z^2 - z + 1) F(z) - z(z - 1) f_0(0) - z f_0(1) = 0. \tag{13}$$

Using the initial conditions (4) in (12), we have

$$U(z) = (z^2 - z + 1) F(z) - z. \tag{14}$$

Since $z^2 - z + 1 = (z - c)(z - d)$, where $c = \frac{1 + \sqrt{-3}}{2}$ and $d = \frac{1 - \sqrt{-3}}{2}$. Then (14) becomes,

$$F(z) - \frac{z}{(z - c)(z - d)} = \frac{U(z)}{(z - c)(z - d)}. \tag{15}$$

Now, we define a function $g(s) = \frac{c^s - d^s}{c - d} f(1)$, then applying Z-Transforms to $g(s)$, we get

$$Z[g(s)] = G(z) = \frac{z f(1)}{(z - c)(z - d)}.$$

Hence

$$(z - c)(z - d) G(z) - z(z - 1) f(0) - z f(1) = 0. \tag{16}$$

Since, we have $g(0) = f(0) = 0$ and $g(1) = f(1) = 1$. Now,

$$\begin{aligned} Z[g(s + 2) - g(s + 1) + g(s)] &= Z[g(s + 2)] - Z[g(s + 1)] + Z[g(s)] \\ &= (z^2 - z + 1) G(z) - z(z - 1) g(0) - z g(1) \\ Z[g(s + 2) - g(s + 1) + g(s)] &= 0. \quad [\text{from (16)}] \end{aligned}$$

Since, Z is one-to-one operator, it holds that $g(s + 2) - g(s + 1) + g(s) = 0$. Therefore, $g(s)$ is a solution of (2). Then we have

$$Z[f(s)] - Z[g(s)] = F(z) - G(z) = \frac{U(z)}{(z - c)(z - d)} = Z[q(s) * u(s)],$$

where $q(s) = \frac{1}{z} \left\{ \frac{c^s - d^s}{c - d} \right\}$. Since Z-Transforms is linear and one-to-one, we have $f(s) - g(s) = (q(s) * u(s))$. Now, taking modulus on both sides, we get

$$|f(s) - g(s)| = |q(s) * u(s)| = \left| \sum_{s=-\infty}^{\infty} q(s - k) u(s) \right| \leq \sum_{s=-\infty}^{\infty} |q(s - k)| |u(s)| \leq \mathbf{L}(\epsilon) \theta(s)$$

for every $s > 0$, where $\mathbf{L} = \sum_{s=-\infty}^{\infty} |q(s - k)| = \sum_{s=-\infty}^{\infty} \left| \frac{1}{z} \left\{ \frac{c^{s-k} - d^{s-k}}{c - d} \right\} \right|$ exists for each value of s . Then by the virtue of Definition 2.2, the linear difference equation (2) has the Hyers-Ulam-Rassias stability. \square

References

- [1] R.P.Agarwal, *Difference Equations and Inequalities*, Marcel Dekker, Newyork, (2000).
- [2] Q.H.Alqifiary and S.M.Jung, *Laplace Transform and Generalized Hyers-Ulam stability of linear differential equations*, Elec. J. of Differential Equations, 80(2014), 1-11.
- [3] J.Brzdek, D.Popa and B.Xu *The Hyers-Ulam stability of non-linear recurrences*, J. Math. Anal. Appl., 335(2007), 443-449.
- [4] M.Burger, N.Ozawa and A.Thom *On Ulam stability*, Israel J. Math., 193(2013), 109-129.
- [5] S.Elayadi, *An Introduction to Difference Equations*, Third edition, Springer, New York, (2005).

- [6] J.Huang and Y.Li, *Hyers-Ulam stability of linear differential equations*, J. Math. Anal. Appl., 426(2015), 1192-1200.
- [7] D.H.Hyers, *On the stability of the linear functional equation*, Proc. Nat. Sci. U.S.A., 27(1941), 222-224.
- [8] S.M.Jung, *Hyers-Ulam stability of linear differential equations of first order*, J. Math. Anal. Appl., (2005), 311-146.
- [9] S.M.Jung, *Hyers-Ulam stability of the first order matrix difference equations*, Adv. Difference Equ., 13 (2015).
- [10] S.M.Jung and Y.W.Nam, *On the Hyers-Ulam stability of the first order difference equation*, J. Funct. spaces., (2016).
- [11] Y.Li and Y.Shen, *Hyers-Ulam stability of non-homogeneous linear differential equations of second order*, Int. J. Math. Math. Sci., (2009), 7.
- [12] B.M.Patel and A.B.Patel, *Stability of Quadratic functional equations in 2-Banach space*, Gen. Math., 15(2013), 1-13.
- [13] D.Popa, *Hyers-Ulam-Rassias stability of a linear recurrence*, J. Math. Anal. Appl., 309(2005), 591-597.
- [14] D.Popa, *Hyers-Ulam stability of a linear recurrence with constant co-efficients*, Advances Difference Equations, Hinawi Publ, Co., (2005), 101-107.
- [15] K.Ravi, R.Murali and A.Ponmana Selvan, *Hyers-Ulam stability of nth order linear differential equation with initial and boundary condition*, Asian Journal of Mathematics and Computer Research, 11(2016), 201-207.
- [16] K.Ravi, J.M.Rassias and B.V.Senthil Kumar, *Ulam-Hyers stability of undecic functional equation in quasi-beta-normed spaces fixed point method*, Tbilisi Mathematical Science, 9(2016), 83-103.
- [17] S.M.Ulam, *A collection of mathematical problems*, Interscience Tracts in Pure and Applied Mathematics, Interscience Publishers, New York - London, (1960).
- [18] A.Zada, O.Shah and R.Shah, *Hyers-Ulam stability of non-autonomous systems in terms of boundedness of cauchy problems*, Appl. Math. Comput., 271(2015), 512-518.